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10的负数指数加减乘除运算

285.9 ÷ 10 =(−3) 10 =(−2)

7 × 10 =(−2) 9 × 10 =(−4)

671 × 10 =(−3) 10 =(−2)

616.5 ÷ 10 =(−4) 10 =(−1)

5 × 10 = 164.1 × 10 =(−4)

10 =(−2) 8 × 10 =(−2)

10 =(−3) 10 =(−2)

9 × 10 = 10 =(−3)

410.6 ÷ 10 =(−3) 307.7 ÷ 10 =(−3)

7 × 10 =2 10 =(−2)
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姓名: 　　　　　　　 日期: 　　　　　　 分数: 　　　

10的负数指数加减乘除运算

285.9 ÷ 10 = 285900(−3) 10 = 0.01(−2)

7 × 10 = 0.07(−2) 9 × 10 = 0.0009(−4)

671 × 10 = 0.671(−3) 10 = 0.01(−2)

616.5 ÷ 10 = 6165000(−4) 10 = 0.1(−1)

5 × 10 = 50 164.1 × 10 = 0.01641(−4)

10 = 0.01(−2) 8 × 10 = 0.08(−2)

10 = 0.001(−3) 10 = 0.01(−2)

9 × 10 = 90 10 = 0.001(−3)

410.6 ÷ 10 = 410600(−3) 307.7 ÷ 10 = 307700(−3)

7 × 10 = 7002 10 = 0.01(−2)
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